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The Code No. on the top of the question paper should be wrztten by the candidate :
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Don’t leave blank page/ pages in your answer-book.
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o TV I B oW 3 @ g 7 gl av 7 f erem g 7 @ & T B 9T s
T § 2 o aar @ 76 A

Before answering the questions, ensure that you have been supplled the correct and

complete question paper, no claim in this regard, wi
examination.

il be entertained after

TH= [Rr -

General Instructions :

2629

(V)

(it)

(iii)

(iv)

(v)

(vi)

T J9T SHfard &
All questions are compulsory.
IR 797 & 3% IaD G T T &

Marks of each question .are indicated against it.

77 F9% 1 @ 14 7% JGge 7@ 15 & 18 7% SAEHIT-PRT JHT & J97 &
T 75 1 o a7 & s @) gy o) gy 4 e &

Question Nos. 1 to 14 are objective type qﬁestions a‘n_d 15 to 18 are

Assertion-Reason type questions, carr'ying 1 mark each. Candidate have to

write the correct answer in their answer-book.
577 % 19§ 25 %WWWV% T9%F J97 2 ST# 3:7?/ J9F F97
ST FTHT 30 sfc—q'? 7 g

Question Nos. 19 to 25 are very short answer type questions carrymg

2 marks each. Answer these in about 30 words each
97 FH% 26 7 30 WWWV &1 5% F97 3 SIH I & §AF FeT I TV
FTHT 40 1@ 7 o

Question Nos. 26 to 30 are short answer type qt{estions carrying 3 marks

J

each. Answer these in about 40 words each.
go7 % 31 0 32 J9% 4-4 of & &

Question Nos. 31 and 32 are 4 marks each.
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(vii) 7 5% 33 @ 35 % N FHUHE F97 & FA9F FT S o7 T 8 W!{WW
FTT TTHT 70 =T T vy

Question Nos. 33 to 35 are long answer type questions carrying 5 marks

each. Answer these in about 70 words each.

(viii) 79795 & 757 @Y & FE FeY & & oy 3B g7 7 oA T T A T
& R T 7 @ oy P OF & F97 HA 8

There is no overall choice. However, internal choice is given in some

questions. You have to attempt only one of the given choice in such

questions.

(Fegfrs %)

(Objective Type Questions)

1. 2.005 T aFf® o & G ® ¢

A) (B) @
(C) =W (D) o
Number of significant figures in 2.005 is :

(A) Two (B) Three

(2] Four (D) Inﬁnite‘

2. AEAeE ] & R SRR G A E 7 % :
(A) 1 (B) 2 ~
(c) 3 (D) 4
How many unpaired electrons are present in Nitrogen atom ?

A) 1 (B) 2
(Cc) 3 (D) 4

2629 P.T.O.
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(4)
9,17, 35, 53, 85 QA FHi% aw @i o ¥

(A) TSN (B) et M

(C) Vel oref e (D) EeHAY T

The elements with atomic Number 9,17, 35, 53, 85 are all :
(A) Halogen's (B}~ Noble gas

(C) Alkali Earth metal , (D) Transition metal

P61 A 1 Faga ot 78 Rearen

(A) CO;, -~ (B). BFs
(C) HO (D) ccl
Which compound do not show zero dipole moment ?
@) co, UM my eR
(C) HO0 ' | (D) CCls

. T/ F HR0 B AR e o d 7

(A) 44 - (B) 18

C) 17 | (D) 60

What is the molar mass of H,0 in gm/mol ?

(A) 44 (B 18

(C) 17 (D) 60

& gl @ Fel g A e s 8, & ol o R

(A) s (B) Iwmaindy

() semad (D) eIl erfRrferar

When water is added to quick lime the reaction is :

(A) Explosive (B] Endothermic

. b} . s
(C) Exothermic (D) lllotocbemlcal

262



7.

KCIOs § CI 3} ifeRfiaer der =y § 7 L
(A) +5 (B) +3
(C) +1 (D) -1
The oxidation number of Clin KCIO; is :
(A) +5 | (B) +3
(C) +1 : (D) -1

il qeret @ s MM SRR o ©

(A) S Ry (B) g fafyy A

10.

(C) faeeT A=x fafy @ (D) «fsw fafy |

Molecular mass of volatile substance is determined by :

(A) Kjeldahl's method (B) Duma's method

(C) Victor Mayer's method (D) Leibig's method

SEFE $ JuH Frem @ e @9 8 g

(A) AU=g+w B) AU=gx w

(C) AU=-gq-w (D) AU=w-gq

Mathematical statement of first law of thermodynamics is :

(A] AU=g+w (B) AU=gxw

(C) AU=-g-w

S R RFT (sigma) 7 T &7 A7 ¥ 7

(D) AU=w - q

A) 128d3n B) 118d2n
(C) 1289 1m (D) 13893 n
How many Sigma and Pi bond are present in the Benzene ?
(A) 1268& 3 B) 1186& 2mn

2829

C) 126& 17 D) 138:4 3img

2629
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11. SF-81 TS S50 B R B 2 7
(A) s (B) p
C) 4 (D) f
Which orbital is dumb-bell shaped ?
(A) s (B) p
(C) " d (D) f
12. CH3;CHO® IUPAC 9 &I : 1
(A) Aceteldehyde (B) Methanal
(C) Formyl chloride ; (D) Ethanal
The IUPAC name of CH;CHO :
(A) Aceteldehyde (B) Methanal
(C) Formyl chloride (D) Ethanal
13. SEFR ReRi® & 7@ aF a 1
' (A) 6.022 x 102 (B) 6.022 x 1026
(C) 6.022 x 1025 (D) 6.022 x 1022
The correct value of Avogadro's constant will be :
(A) 6.022 x 1023 (B). 6.022 x 10%¢
(C) 6.022 x 10%° (D) 6.022 x 1022
14. e QoW (ewd) & R orop R o 3 O § 7 . 1
(A) 12 (B) 24 |
© 6 D) 3

How many molecule of water of crystalization in Potash Alum ?

12
6

(A)
©)

,(B)
(D)

24
3
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Ale : Friifed el (So Ho 15, 16, 17 w 18) ¥ -3 For RY M ¥ Al (A) T
FRO(R) A F H ARG oterd i wd Rty g R B ST Rew @d 3
T e SR A RA 1 Rwew (A), (B), (C) @@ (D) #* & e Rl

(A) (A) T (R) A 9 ¥ &R (R), (A) N & are ¥

(B) (A) T (R) &M 97 ¥ R (R), (A) B G& ame & &

(C) (A) 9 & AT (R) o18F B

(D) (A) IHH T AT (R) TF B

15.

| 269

In the following questions (Q. Nos. 15, 16, 17 & 1'8') two statements are given for

each. Assertion (A) and Reason (R). Study both the statement carefully and

decide which answer option is correct and write the correct answer by selecting

the given option (A), (B), (C) & (D) :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

I (A) :

R (R) :

Assertion (A) :

Reason (R) :

T AHishaT | | :
Zngy + CuSOs(gq —> ZnSOs(gq) + Cuy) -

Rfer T oTgem® § Affd 98 ©d Sifeiig & ST &

Reefy Wi aIftrar # offfleRe aee @ER B SER| & e &
T ST S G SR & o
In a reaction

Zng) + CuSOa(gq = ZnSOi(qq) * Cu(g ]
7n is a reductant but itself get oxidized. ¥

In a Redox reaction oxidant is reduced by acceptiir‘ig electrons

and Reductant is oxidized by loosing electrons. $il

P.T.O



16.

17.

18.

19.

20.
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HA¥HFE (A)
HR (R) :

Assertion (A) :

Reason (R) :

ARHET (A) :
S (R) =
Assertion (A)

Reason (R) :

JAREET (A) =

T (R) -

Assertion (A) :

Reason (R) :

IHgE T T B 1
e el v g e ¥ Rt o & g $ o 8 el

Graphite is an Element.
Element is the pure form of substance containing same Kind of

atoms.

e 4R | ghe & a9 G F FaUE dodm Bl L
‘ST T’ SF A A gRg & A1 agerl B

: Boiling point of alkanes increase with increase in molecular

weight.

Vander Waals's force increase with increase in molecular weight.

T eRgmET TEES w6 § w4 el @ g o
el TEadl WA & 4@ T F @ & ol

Saturated hydrocarbon are chemically less reactive.

. All Isomeric paraffins have same parent name.

(rfr-SgaTeT® M)
(Very Short Answer Type Questions)
(a) e AT ¥ g FRe Faege BT 7 A ;
How many total electrons are present in the Nitrate Ion ? |
(b) IEE qRE] H gaegie e R s

Write Electronic Configuration of chromium atom.

BF, # WEH 7€ ¥ AT R o 9e o & WA W FW R X NH, F W e
o B @ ¥ 7 A @ A Re SR A A T E 7 !

BF, does not have proton but still acts as an acid and reacts with NH,, why is 1t

so ? What type of bond is formed between two ?

e e T P ———p——————
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22.

23.

24.

25.
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ﬁwﬁﬁﬁﬁiamimﬁﬁMT%!amay%ﬁhfﬁh"nrngﬁiﬁﬁm 2
Cr 07 (ag) * SO = Cr' (aq) * SO.* (aq) (3' EiIQ)
Balance the following redox reaction by Ton Electron method :
chO-;Q‘(nq) e SOZ({I) = C73+(aq) n SO42—(aq) (ACldlC)
TRT T (CHy),C*, CH,CH,* & ot Ret & 8l CH,* da@ 39 R 3 7 2
Explain why (CH;3);C* more stable than CHSCH; and CH," is least stable
cation ?
(a) 3R T foe=™ | pH=7 ¥, & 3w POH 77 T AR 2
If pH of a solution is 7, calculate its POH value.
(b) pHF T & 3R o7 A §8 T CH,COONH, e & =it =y
What happens to the pH, if a few drops of acid are added to CH;COONH,
solution ? | ,
S W SO MR @ Y 7 o9 Rhany Riw R 2
What is Electrophillic substitution of Benzene ? Show its mechanism.
STgar
OR

FABTT A FOATT $ S ST B

Distinguish between Carbocation and Carbanion.

() HUSE & o frgm A oy ot fraw % oM o @ ¥ ? 1

What is the basic difference in Mendeleef's Periodic Law and Modern

Periodic Law ?

(b) ww%ﬁsmﬁmﬁnwmwﬂe@aﬁ%maﬂmﬂmqﬁmm
A F9 el & 7 i

What is the reason that first lonization energy of Nitrogen is higher while

that of oxygen is lower ?

P.T.O.




26. (a) WRTERE W W AQ T A 200°F 8, A deqwd | 78 AT 7 2y 2

27. T T "X" H [ FAH 13 B :

28.

2629

(b)

(c)

(10) 2624
(s 5) -
(Short Answer Type Questions)

I
A measured temperature on Farenheit scale is 200°F. What will ;.

reading be on Celsius ? _
wﬁaaﬁﬁmwmms.ssmNacus)qﬁrsooﬁz«ﬁ@r? :

What will be the molarity of a solution which contain 5.85 gram of NaCl(s)
per S00 ml ? ;

S T IR FFAaST g & w7

What is the relation between Molecular formula and empirical formula ?

An element "X" has atomic number 13 :

(@)

(b)

(c)

(@)

"X el e R

Write electronic configuration of "X" ;
S9 g @ gasy REd X' i R
State the group to which "X" belongs ?
TN X" T Ay © AT g ?

Is "X" a metal or non-metal ? ' '

@mﬁmlWm%wﬁm@aﬁﬁaqﬁw%@rs%sﬁm,

onel &7 R S &1 gk & fod oriaRe I A Fn qReds a2 5

In a process, 701 Joule of Heat is absorbed by a system and 394 J of Vs;ork

is done by the system. What is the change in Internal energy for the

process ?
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(b) TN T N D AW o ¥ A F=y ANy 2 1
What will be the enthalpy of all elements in their standard state ?
YT
OR

Ml A T 3 SR B g 56K e o ¥ R T B § @ e g
TRETT @ T AT AR 1 dex eyt T 1 sER frafa § wwarda w9 & e 2,
o HF A S5 TR Y

Expansion of the gas in the vacuum is called free expansion, calculate the
work donc as well as the change in the Internal energy if 1 litre of the ideal
gas expands isothermally into a vacuum untill the total volume is 5 litres ?

29. U% FEMS ANH § 69% BT AR 4.8% SEISH ST &1 Sb a1 SfFdSH &1 &9 39
ARE F 0.20 I T T B B, & IWRT CO» SR H,0 F 5@ & oW1 /@l 3
An organic compound contains 69% carbon and 4.8% hydrogen, the remainder
being oxygen, calculate the masses of CO> and H>O produced when 0.20 gram of
this compound is subjected to complete combustioh.. \

30.

2629

HYA[
OR

SUGHR S & WY FroHed TAE SR FadsAh THE = P AT Hiow

Explain the term Inductive effect and Electromeric effect with suitable examples.

(a)

Ao @ Rafy & frer eifufear & R Ke 71 8 ? 1%
250, * Oy = 2505

[SO,] = 0.6 M [0,] = 0.82 T&T [SO;] = 1.90 M

What is Kc for the reaction in state of Equilibrium ?

[SO,] = 0.6 M [O,] = 0.82 and [SO;] = 1.90 M (
o fAfegd a9 @R Fd e 105mwwmaaﬁw@awmaﬁmm%
i%m?rﬁam%z’m%uW%mxpmaﬁmg(m:z]@. : 1%
At a certain temperature and total pressure of 10° Pa. lodine contains 40%
by volume of I atoms. I, = 2/, calculate Kp for the equilibrium. i

‘ /P.T.O.
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31. TSR & Yeen Mg Sl wxeer o ae G § oo Rl o o1 e e @ v

S H MR AR § A Y g o R Reed @ ongft A @ S
T QAT T B ogm, S W | e % @9 e 2 PR &
A [20=aU + W] st 40 & T ToT ¥ o aw o @ R T A ¥ @ AU
SaRE ot § qREdT B AQ T AW IRW ot  Wo ofFeN ¥ & 9 a9 VW T
PR %3 21 Qi iR AQ - W IR W PR 76t & B

() oA & JoH e Rees g @ 99 R 7 1
(b) HF T B T T AQ, AW, AQ - AW? | 1
() ol 41 Bt § 7

(d) Wﬁﬁ%&?ﬂ\ww%? ’

The first law of thermodynamics is the general law of conservation of energy
applied to any system in which energy transfer from or to sourroundings is
taken into account. It states that energy supplied to the system- goes in partly to

increase the internal energy of the system and the rest in work on the

environment. Mathématically [AQ =AU + AWW where AQ is the heat supplied to

the system, AW is the work done by the system and AU is the change in Interna
energy of the system. AQ and AW depends on the path taken to go from initial to
final state, but the combination AQ - Wis path independent.

(&) First law of thermodynamics is concerned with the conservatlon of AQ o~

(b) Which is not path function AQ, AW, AQ-AW?
() What is system ?

(d) Thermodynamics is the study of ............... .

)
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32. T B Fawr, S ofT R SO e aw R T P A § Ao aw @ Prekor
IR A P T Na ORIT T ¥ Feso, oK @ H,S0, femm o sRew e @

ol mmmmaaﬁmm%@g@wmwm%@wm
& e B Ot 3 o v

Three students, Vishal, Vaibhav and Vikas were determining the element

present in given organic compound by Lassaigne Test. Vaibhav added FeSO, and

dil H,SO, to Na - extract and observed Prussian blue colour. Vishal was keeping

some pieces of sodium metal in his pocket; Vikas asked. him not to do so.

Answer the following questions :

() ﬂéﬁ?ﬁmﬁ%aﬁwwmn g | 1
Name the element present in organic compound i _

(b) aﬁﬂw%mqﬁwﬁvﬁm s el ;e 1
Write the test for chlorine. ; e b S, % £ 0
Write the value associated. R A e ; . i

@ TR TR AT A ol ‘ | 1
What is the nature of Lassaigne extract ? ‘ ;

s { OR
=1 difret & IUP{%C I SET | ‘

(b) )\/\(\

.(¢) CLCHCH,0H

() * CH,CH,CH,CHO

Downloaded from www.cclchapter.com
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Give the IUPAC names of the following compounds : -

O

SENENG N

(b) M(\

() CLCHCH,OH

(d) CH,CH,CH,CHO

(4 ST 594).
(Long Answer Type Questions)
33. (a) UOF P & Tl & T DR 0

Calculate the energy of each photons which : v
() ST % STIE Rrae ogRt 3 x 1015 Hz ¥

Correspond to light of frequency 3 x 10'° Hz.
(i) frae qoreE o. 50 A &

Have wavelength of 0.50 A. ;

(b) 4ooopmwﬁaim%ws7%tﬁm%ra@rw%ﬁ 1 6 o We wy B9
What is the- number of Pphotons of hght with wavelength 4000 Pm whlch
provide 1 Joule of energy ? ;

% ' OR

(@) TR AT Y G oniiew B g wew T ¥ 7 , !
Total number of orbitals associated with thlrd shell W111 be ... AR

(b) FWE ol HT R A T B e

~ Orbital angular momenfum dependsion ... s
‘_‘,'(C),:;".‘4deﬂﬁw%%ﬁﬁ°ﬁqﬁ3ﬁﬂ'@r .......... Lo 4 1
- A Nu %\ber of a{lgular nodes for 4d orbital is ........000
2629 o »‘}f |




34.

(d)

(¢)

(@)

(b)

(©

(15) , 2629

3p anfeed & fod Weam T H ez R i 1
The number of radial nodes for 3p orbital is ................. .

4d, 4%, 5s, 5p ¥ @ R olfffeq @ ot @ 959 a4y 7 1
Which of the orbital has lowest cnergy among 4d, 4f, 5s, Sp ?
aﬁa—m%gﬁﬂﬁ@mcozm%mmml 1
Which is more polar CO, or N,0? Give reason.

W Ye T 3 W gl o A B 3 a7 1

Why ethyl alcohol completely miscible with water ? :
(VSEPR)%W%&;@%@W%?W 3

What are the main postulates of valence ‘shell electron palr repulsion
(VSEPR) theory ?

- 3TYET
on

Wﬁ@amﬁﬁ@a@mﬁwﬁm%mwm%w
wmy%wﬁmmm%%@

Compare relative stability of the following species and indicate - their

magnetic properties on the basis of Molecular Orbital Theory : 0,, O,, lo¥e

Faf co, T H,0 BuRams ar & Ilzoﬁﬂﬂmﬂam%lmcoziﬁr
TR W & B faga et & aneR W awEmEy

Although CO, and H,O are triatomic molecule the shape of Hzo molecule is

bent while that of CO, is linear, eXplain on the bas1s of dlpole moment

Y

\\'

S p R



35. 1 % i s Hiftw

Explain in brief :
() T iR
Wurtz Reaction
(b) "REMH® & FEH
Markovnikoff Rule
(c) ThSW HHe VBRI
Fredal Craft Reaction (Alkylation)
(@ TR T S R o R SR o B W g A

Suggest a route for the preparation of the Nitrobenzene starting from
Acetylene. , | |

(€) F=IT § e~ HY A< HL ?

How will you get Bromobenzene from Benzene ?

(@a]
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